= s = s E s
X X I X X X 0 X
Y=?545g_ + + % s + 3 + Y=T754
IS 53 28 TSR 4 Bl 4 2
= SE=H & 3 . V4 [E] :
= —
< I~ L — Ex ¥ 4 -L\ P
FEIGZEEEOMERAMIBER L=166m ©
B £
) pal
¥=75400 + n ;\é i 5 E ¥ " ¥=754
< ~
S N
<
N {T‘ FoRA T EEMIFT 13
Eﬁ 1T 2T ITE = @ DA —0—FRT (No 64)
g 85 T2 L — R T 5 HE R E:I::?-)b#w—mll!ﬂsfﬁ“'y FE R Hiar tz;:mﬁmmag Sl o L TR
o L=23. 85 (24. 00\ m L=124. 50m =27. 00m :
% W :H: DAF—a— BT (No 138, 141, 155]
I
{10
Y=7535Q_ g b(d\ + Y=753 8
" ws30g . . . ¥=753
A
B ircasoresnsms
E/L—JL L=163. 00m
BICHBOREE > TIBHS
Y=?525E_ + & E Y=752
E
P ——— 5 B
_——"-"——h__.__‘—__". - —
#ales VL3 IR R R 2 E AR
1§48 EEE S ESER TS
i & /INFENE BETE A
BEA EmE
B R| 1:500 [ mmss |
fHERR Erk = =] =]
L b Z i z X i ¥REE | E)IRNSHBARBR




